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Quiz 3

This quiz is graded out of 13 marks. No books, watches, notes or cell phones are allowed. You must show all your work, the correct answer is
worth 1 mark the remaining marks are given for the work. If you heed more space for your answer use the back of the page.

Question 1. (3 marks) Find all matrices A, if any, such that

a2 N

A wmyst be & ax3 mal X, Tpasd bee  C4¥ X: V 0]
A= [ou b a] la+ 20 2M63e 2043€ 0 o]
d e * g,,dfg Leb 2:5(; chv-ct.s,r’ff??
' e ° s
Question 2.! (4 marks) Solve for X when: c+€=0 £=r o Az _t -5 ..r“] 2’;)5,)’5%)
~13 1 ~11 L ~1 0 2042 =0 S0 as-b . £t s T
[ }XZ[ Z]X—[ } 2beae=0 bs-§
72 21 22 2c43£20

-l ol, a3y - [ xlx
2 2 29 | 27 2
[«1 olz t].(-13 tix
+ 4 [ L? 2

Question 3. (2 marks) Determine whether the statement is true or false, and justify your answer.
The sum of two invertible matrices of the same size muste invertible.
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Question 4. (4 marks) Show that if R is a 1 X n matrix and C is an n X 1 matrix, then RC = tr(CR).
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